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Chapter | Page Location on Page Correction

1 42 4" line Change “Theater” to “Terminal”

1 43 Caption of Fig. 1-42 | Change “Theater” to “Terminal”

1 56 Problem 3 fmswer (a): cEange mile” to “statute mile”. Answer (d): Change “miles” to

statute miles

Replace the entire problem statement with the following:
“Consider the special case of an interferometer, which can be described as a

1 57 Problem 9 2-element phased array antenna, consisting of two isotropic, in-phase,

roblem radiating elements separated by a distance d. Assume d is much greater than

A, the wavelength of the transmitted EM wave. Show that the first null off
boresight in the far-field antenna pattern occurs at angle 8= A/2d radians.”

5 77 last paragraph of Replace the entire sentence beginning “Chapter 5 includes ...” with “Chapter

2.13.1, 1" sentence | 5 provides the formula for the calculation of the clutter area A, .”
2 77 last paragraph, 2" Replace the entire sentence beginning “Chapter 5 includes ...” with “Chapter
sentence 5 provides the formula for the calculation of the clutter volume V. .”

2 85 Problem 8, 1% line Change “... as in problem 4, we ...” to ... as in problem 5, we ...”
The first 3 equations in Chapter 3 are mis-numbered. They are numbered
12.1, 12,2, and 12.3. Change these to 3.1, 3.2 and 3.3 respectively. Then,

Throughout the : ;
3 chapter increment the numbers of all the subsequent equations by 3, (e.g. 3.1 becomes
P 3.4, etc.) Also, renumber any references to these equations by adding 3, (that
is when referencing eq. 3.12 change to 3.15, etc.)
113 Problem 8 Change 10 % t0 10™°
113 Problem 11, line 3 Change “... the engagement.)” to “... the search time.)”

The two “n/a” entries should be changed to “n/a’” to indicate a footnote, and

4 123 Table 4-1 the following footnote added: “*Attenuation coefficients for rain and snow are
based primarily on fall rate in this attenuation model”.
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Chapter | Page Location on Page Correction
4 156 Figure 4-42 Change 4r to &R inside the figure.
Table 5-1, 1" entry, | Change “... of radar return signal ...” to “... transmitted radar signal ...” in
5 167
both columns both columns
e Change j to —j in the argument of the exponential in the first two lines
5 168 Eq. (5.3) only, not in the 3 line
e Change 6to 4 in the first two lines
Immediately after Eq. | Change “where o is ...” to “where d is the nominal range to the resolution
5 168 .
(5.3) celland o is ...”
169 3" line above (5.6) | Change “dBsm” to “dBsm/sm”
169 2" line above (5.7) | Delete the entire sentence “Both were considered in Section 2.13.”
170 Egs. (5.9) & (5.10) | Change cscdto secsin both of these equations
zRtan 2
5 170 Eg. (5.11) Replace with tan s = M
cr
R
5 170 Eq. (5.12) Replace with tan & = 7[2c¢3
T
5 170 2"-to-last text line | Delete the entire sentence “The formula for V was given in Chapter 2.”
rd
5 174 last parﬁ?‘g’"ph* 3% | Change 17210 242
5 186 Eq. (5.20) On the right-hand side of the equation, change P(v) to p,(v) (Do not change
a- (> the P (o) on the left-hand side of the equation)
5 201 4" line Change “circumference” to “diameter”
5 206 5" line Change 5.4.2 10 5.5.
5 206 Section 5.4.1, 2" line | Change “Figures 5-13 through 5-16” to “Figures 5-11 through 5-14”
5 206 Section 5.4.1, 4™ line | Change “Figures 5-20 through 5-22” to “Figures 5-18 through 5-20”
Change “Assuming pulse-limited clutter interference, at what range ...” to
5 210 Problem 3, 4™ line | “Assume the clutter interference is pulse-limited and that o® does not vary
with range. At what range ...”
5 210 Problem 8, line 1 Change “1 ms” to “200 us”
7 248 2" text line Change “... RCS of a trihedral ...” to “RCS of a square-sided trihedral ...”
Table 7-2, entry for 3 [=
7 259 Chi-square of degree | Change the expression for the mean of to ¢ = 1 /? .
4
1% and 2™ lines - :
7 261 above Eq. (7.20) Change Ly sin@+L, cos@ to Ly [sin 6]+ L, |cosd)|.
. c
Change equation to Af =
! 261 Ea. (7.20) Je ed 2(Ly Jsin 6]+ Ly |cos 6])
7 270 Problem 2 Add a new sentence at the end: “Assume D/A is an integer.”
7 270 Problem 3 Change “For a given value ...” to “For a given integer value ...”




Chapter | Page Location on Page Correction
Change “...a variances of &° (1+u2]/[l +a’ )- ... 1o “a variance of
7 270 Problem 5, line 3 2
& (1+207)(1+a?) .7
271 Problem 8, line 1 Change “What is the estimated ..." to “What is the maximum estimated ..."
271 Problem 11, line 3 | Change #1o A&
s =i
8] 270 Equation 8.16 Pty = z pelt —n-T)= p.lr)e z Splt —n-T)
HE=E—30 h=—
Pe(f) = Tysine(m fTy) » Pe(f)
= AT S : _
= Tysine(rfTa) »{ == > sinc(tk - PRF) - 8p(f —k - PRF)
8 281 Equation 8.21 k=-nc
ATyt o= . ;
== %" sinc(mtk - PRF)sinc|m(f — k - PRF)Ty]
I km—m0
8 281 s Aoy X(fiedplf — fo) = X(f = fo)
Equation §.21 '
8 285 4™ line Change “... the pulse length, £ to “... the CPI, T,.”
8 286 Middle of 2™ Change ... the reciprocal of the dwell time,” to “... the reciprocal of the
paragraph waveform duration,”
Change ... is called the in-phase or [ channel; the lower is called the
guadrature or O channel.” 10 ... is called the in-phase or [ channel because
8 288 4" line from bottom | it is the real part of the corresponding complex sinusoid; the lower is called
the quadrature or O channel and is the imaginary part of the complex
sinusoid.”
303 Problem 1. line 2 Change “... equation (8.2)." 1o ... equation {8.4).”
8 304 Problem 1, last line | Change *... equation (8.1, to “... equation (8,2),”
ot antps | Change *... directly in front of the radar, and ..." to ... directly overhead of
§ e Prokiean 33" e the radar at an altitude of 5 km, and ..."
8 304 Problem 5 Change “Doppler resolution™ to “Rayleigh resolution in Doppler frequency™
g 304 Problem 6. 2™ line Change “... rf:snhred in _freqt:?ncy. to “... resolved in frequency (separated
by one Rayleigh resolution)?
8 304 Problem 8, 1" line | Change “Figure 8-7." To “Figure §-6."
8 304 Problem 13, line 2 | Change “100 m/s” to *150 m/s"”
8 304 Problem 14, line 2 Change “Figure 8-16" to “Figure 8-217
8 305 Problem 19, 1™ line | Change “... has a PRF ..." t0 *... has an RF of 10 GHz and a PRF ..."
10 388 Problem 2, line 5 | Change “1.3806503 = 10 ' m™kg/s"K™ to *1.3807 = 10 * Joules/K™
10 388 Problem 5. Line | Change “=100 dBc/Hz" to “~100 dBc”
. nd g
10 3g9 | Problem 8, 2%lineon | &~ oo w75 dBe/HZ” 10 =75 dBc”
p. 389
) T Change ... witha 1000 W TWT amplifier.” to ... witha 5,000 W TWT
3 482 Problem 9, 1" line amplifier operating at a transmit duty cyele of 10%."
T 416 Phabi il diten C hjmgr:' ... down 70 dB, ..." to *... down below the peak signal by 70 dB,
11 416 Problem 15, line 1 Change “Figure 10-26" to “Figure 11-27"
12 421 Last line before 2™ Change “S,, =1 10 e per Hz (equivalent to -160 dBe/Hz)” to 5, =
= to-last paragraph | 1= 10" per Hz (equivalent to -140 dBe/Hz)”
12 456 Problem 8, 3"line | Change “noise level be in the ..." to “noise level (in dBc/Hz) be in the ..."




Chapter | Page Location on Page Correction
Replace the entire parenthetical comment with the following:
12 456 Problem 8, lines 3-5 | ““(Recall that the phase noise power spectral density in dBc/Hz must be
multiplied by the filter bandwidth to determine the complete CIF.)”
problem 12(a), 3" Change “... up to and including the third harmonic ...” to “... up to and
12 456 - ) . L9
line including the second harmonic ...
12 456 problem 12(d) Add th}s sta}’tement at the end. : “Assume all signals are less than 10 MHz
bandwidth.
12 456 problem 13 gléaSnge” ... signals from 5.85 ...” to ... signals in the 3 dB passband from
13 464 Section 13.4 Heading | Change “FLOPS” to “FLOPs”
13 465-471 Odd page header Change “FLOPS” to “FLOPs”
13 472 Fig. 13-7 Change “OLA, LO = 100" to “OLA, LO = 200"
13 466 Table 13-2, 2" line Change “2 real add, subtract” to “2 real adds + 2 real subtracts”
13 466 8" line Change “26, 13” to “35, 18”
13 466 9" line Change “148” to “161”
13 487 2" paragraph, 3" line | Change “[49,50]” to “[50,51]”
13 491 Problem 4, line 1 Change “... 1’1’1to 10 100-point segments, ...” to ... into 5 200-point
segments, ...
13 491 Problem 4, line 2 Change 139 to 239
14 496 4" line Change “Chapter 10” to “Chapter 117
14 499 Fig. 14-2 Change “A/T” to “A/Ts” on lower right diagram
14 500 Fig. 14-3 Change labels “A/T” to “AlTy” and “T” to “Ts”on lower left diagram
14 514 5" line Change “The range frequency ...” to the “The two-way range frequency ...”
14 514 6™ line Chjmge ... in range frequency ...” to the “... in two-way range frequency
14 514 7" line from bottom | Change “... time domain to develop ...” to ... time domain: develop ...”
14 521 Fig. 14-21 caption Change 2N/log,N to 2K/log,K
14 524 1% line after (14.37) | Change X, to X,
14 524 2" line after (14.38) | Change x, to X,
st
14 520 | PO IT | Gange Mto M1
14 530 Fig. 14-25 Change y(t) to y;(t)
14 539 5 Jine Change “... operation; if S[n] = x[n] + w[n], cs[M] = Cxx[M] + Cux[M].” to ...
operation in the sense that if s[n] = x[n] + w[n], csy[m] = c,,[M] + Cyy[mM].”
14 541 Eq. (14.71) Change W *W T to W -W T
14 541 Eq. (14.76) Change yto SNR
14 545 Problem 11, 2" line | Change “... of (14.29) to ...” to ... of (14.29) and (14.30) to ...”




Chapter | Page | Location on Page Correction
th
14 545 Probler?ili;_i text Change “fact” to “facts”
Add a second formula in line with the first one, so the middle of this problem
has the following two formulas:
14 545 Problem 8 n no
dk=n(n+1)/2, > k" =n(n+1)(2n+1)/6
k=1 k=1
r . RE M - ’) N
14 545 Problem 12 Add a n»'ew ser.lte.nce.at the end: “Assume that the FFT requires (K/2)log,K
complex multiplications, regardless of the value of K.
14 545 Problem 15 Change “(14.45)" to “(14.55)"
. o Add a new sentence at the end: “Assume that x[»] is stationary with mean m,
5 . -
& > FrgRism variance 0‘_3 , and that x[#] is independent of x[] for n # £.”
14 546 Problem 18, 5™ line | Change “m = M.” to “m = M—1.”
15 552 last line Change “ p,, (y|H0) and p, (y|H0) “to“p, (y|H0) and p, (y|H| )
15 562 Last line before | o0 “NCCS2” to “Rician”
(15.15)
15 564 Eq. (15.22) Change 2/i°z to 2z
2z { ) 2mz
=exp |[—= (F+m%) | ;220
p'(lel) = Unz .3 0’3
0, g2
2 (yH H 2
15 568 Eq. (15.35) Change the first exponent from —]/o',T (Y Y+ E) to —(Y Y+ E)/O'n
- ) 2 (yH H 2
15 568 Eq. (15.37) Change the first exponent from —]/cr,, (Y Y+ E) to —(Y Y+ E)/o,,
15 570 1* linea after (15.46) | Change y, to
15 570 2nd paragraph, 1* line | Change ... insor...”to“...inSor...”
-)I]d h f
< 2" paragraph o e P p— 12
15 578 Section 15.5.9, line 2 Change “Figure 15-12” to “Figure 15-13
15 580 1 line Change “Figure 15-13” to “Figure 15-14”
15 586 Problem 10, 2" line | Change “problem 3 to “problem 4”
15 586 Problem 12, 2" line | Change “... problem 1.” to “... problem 11.”
16 591 3" paragraph, 2™ line | Change “... a specified probability ...” to ... a specific probability ...~
16 503 39to-last line Change “... greater-gf [5-7], smaller-of [6-8], ...” to “... greatest-of [5-7],
smallest-of [6-8], ...
16 614 Eq. (16.53) Change “—v to “+v”in the denominator of the term in the summation at the
end of the equation
16 617 Fig. 16-22 ;I‘n the Iegenq: change “Greater-of” to “Greatest of” and “Smaller-of” to
Smallest-of”.
Two line styles are interchanged in the legend. Please keep the order of the
16 617 Fig. 16-22 labels the same, but swap the line styles for “Greatest-of” and “Censored”.

Thus, move the dash-dot line style up and associate it with “Greatest-of”, and
move the dotted line style down and associate it with “Censored”.




Chapter | Page Location on Page Correction
Change the word “ordered” or “Ordered” to “order” or “Order” in the
following places:
e P.593, 34rd line from bottom
e P.608, 4" line above section 16.6.1
: : P. 614, Heading 16.6.2.3; also 1 line of that section
16 Various Various * - X . - .
e P.615, Fig. 16-20 legend:; also Fig. 16-20 caption; also 1* line of
section 16.6.3
o P.616:3"line
e P.617:Fig. 16-22 legend
e P.623, problem 12, line 1; also problem 15, choices (b) and (e)
17 634 Eg. (17.12) ChangehtoH
17 635 Eqg. (17.16) Change f, to f;
17 638 Eq. (17.20) Change S¢(fy) to Sec(fg) (two occurrences)
17 638 1% line after (17.31) Change .Whef’e ea.ch tirm is und§rst0’?d to be a function of the Doppler shift
fyand G is ...” to just “where G is ...
17 639 Eq. (17.24) Change S¢(fy) to Sec(fg) (two occurrences)
Change “... frequency is again equal to a DFT sampling frequency, but ...” to
17 650 7" line from bottom | .. £ q - v 1s again e . plng frequeney
... frequency f;=0.275 again, but ...
17 652 Eqg. (17.38) Change T to T
Last line before
17 652 (17.39) ChangeytoY
17 652 Eq. (17.39) Change Y toY
17 653 2" line Change Y toY
17 653 Eq. (17.40) Change Y toY
17 669 1% line after (17.55) | Change P, to P
17 675 problem 5 Change “... these parameterspsmg 'to ..’.’these parameters for both
rectangular and Hamming windows using ...
17 675 problem 7 Change fj, to f;
17 675 problem 8(d) Change “range-velocity” to “range-Doppler”
17 676 problem 10, last line E{l;a’?ge ... from —10,000 to +10,000 Hz.” to “... from —20,000 to +20,000
17 676 problem 12, 3 line | Change s, [0] to ¢y, [0], and s, [1] to 4, [1]
17 676 problem 12, 3 line | Change exp(j/3) to exp(—j/3)
st th 1 Change “... to the signal at a signal-to-noise ratio (SNR) of 20 dB, the output
18 679 1" paragraph, 77 line ...” to “... to the matched filter input signal, the output ...”
18 679 2" paragraph, 4™ line | Change “SNR” to “signal-to-noise ratio (SNR)”
18 711 Problem 7 Change “CRLB” to “MCRLB” (two occurrences).
18 711 Problem 7 Change (18.78) to (18.70).




Chapter | Page Location on Page Correction

20 810 Eq. (20.99) Please change the second portion from Bgyjp 70 Bhip

20 822 Last pa:?r?gaph, 1 Change “127-length” to “31-length”

20 822 Last parl?r?eraph' 4" Change “... for the 127 MLS is ...” to “... for a 127-length MLS is ...”

20 822 Caption of Fig. 20-32 | Change “127-length” to “31-length”

21 891 Problem 5, line 1 g[ili;rrlrglzp“é.c;llsgcsttieorllll af;)ellliicsttir.l.g':;1gainst ...” to “... system performing a

n/a 899 Ch. 1, prob. 17 dC;;rr;gei E?é)t%?ﬁéi :o((t:ir;egf?c?gcz\gtng values: (a) 15.7 degrees (b) 4.25

nla 899 Ch. 3, prob. 5 Change “1.11 x 10 to “1.11 x 107"

n/a 900 Ch. 3, prob. 11 Change “2 seconds® to “1.75 seconds”

n/a 901 Ch. 8, prob. 1 Change “2.22 x 10" to “2.2236 x 10"
Replace the entire answer with the following: “The radial velocity is initially

n/a 901 Ch. 8, prob. 3 close to 200 mph (89.4 m/s), decrgases to zero when the aircraft is directly
overhead, and decreases asymptotically to —200 mph (—89.4 m/s) as the
aircraft flies away.”

n/a 901 Ch. 8, prob. 10 Change Af to Afy

n/a 901 Ch. 8, prob. 13 Change “232.7 Hz” to “329 Hz”

n/a 901 Ch. 8, prob. 15 Change 23.27% to 65.1%

n/a 901 Ch. 8, prob. 17 Change “30.467 km” to “20.4 km”

n/a 902 Ch. 12, problem 1(a) | Change “-97” to “—94”

n/a 902 Ch. 14, prob. 3 Replace the entire answer with “f; = 35 MHz”

n/a 903 Ch. 15, prob. 11 Change 12.139 to 3.035, and change 0.8676 to 0.798

n/a 903 Ch. 17, prob. 2 Change “Range change” to “Two-way range change”
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Chapter | Page | Location on Page Correction
4 164 Problem 9, 1" line | Change “4/10” to “1/50”.
5 168 Eg. (5.3) Change 6 to 6 in the first two lines.
Ta_ble 7-2, entry for _ 3
7 259 Chu-squarz of degree | Change the expression for the mean of to ¢ = 4\/; .

1%t and 2™ lines

hange L, si to Ly [sing|+L a|.

7 261 above Eq. (7.20) Change L; sin@+L, cos@ 1 [sin 6]+ L, |cos 6|
) +7/2 ) +7/2 )
8 278 | 1%lineof Eq. (8.15) | Change Ae 1"dt [ Ae”/*"dt to [ Ae7I27"dt.
-7/2 -7/2
17 635 Eq. (17.16) Change f, to f,
] Eq. (19.19) & Eq.

19 723-724 (19.21) Change to

19 767 Eqg. (19.234) Change to




Non-Errata Edits

Chapter | Page Location on Page Correction
Change “It scans mechanically in the azimuth direction and electronically in
Section 1.9.1.2, 1% | the elevation dimension by means of frequency scanning.” to “It scans
1 40 ; . . 7 : .
paragraph mechanically in the azimuth direction and forms simultaneous receive beams
stacked in elevation with monopulse processing for elevation calculations.”
Change “... clutter return, and ¢ is the equivalent phase.” to ... clutter
5 168 Text after (5.3) return, QIS’}he qulvqlent phase, and d is the nomlngl range to the .
range bin.” (pagination may make this one tough, it can be left out if
absolutely necessary)
170 3" line after (5.10) | Change “fine-range” to “fine range”
201 4™ line of text Change “circumference” to “diameter”
5 202 1% text line Change o layers to forward scatter more ...” to “layers and forward scatters
more ...
203 3" text line Change “... D for ...” to “... D in equation (5.30) for ...”
206 1% line Change “required” to “common”
5 206 Section 5.4.1, 1% All of the figure number refs in this paragraph are too high by 2. So Figure
paragraph 51-13 becomes Figure 5-11, etc. The table refs are OK as is.
5 208 Ref. [10], line 1 Change “statistics” to “Statistics”






